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(10%,5%) Let

zsin e #0
fle) = {0 iz =0
Show that

(a) f is continuous at z = 0;
(b) f is not differentiable at z = 0.

(15%) Suppose that f and g are functions that are differentiable at z = 1 and that
f(1) =2, f(1) = -1, g(1) = =2, and ¢'(—1) = 3. Find h/(1) where h is given by
fz)g(z)
hiz) = ————.
@)= 7@ - o)

(15%) Find % if y = tan®(3z% + 1).

(15%) Find % if z + 1% = coszy.
(5%,5%)

472 — 3z + 1

) Find lim ——.
(a) Fin lim ————

b) Find 1 .

(b) Fin lim T

- (10%) Let

$n2r  if o -
f(x):{ 228 if g 54 0

c ifz=20
Find the value of ¢ that will make f continuous on (—00,00).

(10%) Find an equation of the tangent line to the graph of y = zsinz at the point
where © = 7/2 '

. (10%) Find the linearization of a suitable function, then use it to approximate the

number +/63.8.



